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103221
III Semester B.Com. Examination, December - 2019
(F+R) (CBCS) (2015-16 and Onwards)
COMMERCE
Paper - 3.4 : Financial Management
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Kannada or in English.

Pen - & / SECTION - A
BRIYWRTAL N WITIRR Lo TS T3R T wosrisk. 5x2=10
Answer any five sub- questlons Each sub-question carries two marks.
1. (a) =T ATFDHEOD R, TYERAA.
Define Financial Management.
(b) o2 ROeETED womTeRd ?
What is Wealth Maximization ?
(c) WRCINT WoBZYT mmvmﬂl S9A. '
Mention the Sources of Working Capital.

(d) SR, OTTER ? LIIIIIRY .
What is Annuity ? Surana College
(e) TR XF, aomeDH 9 No. 16, South End Roe:.

-BA*'GALORE - 560004

What is Financial Leverage ?
() ©030% T3 A& (IRR) 2033en 9
What do you mean by IRR ?
(g) 301 To3owW ooy T 12,30,000, 301 3e8w 38.5, w8 < 4,00,000.
EBITOCD‘& FORLBOWD.

The earning after tax is ¥ 12,30,000. Income tax Rate is 38.5% Interest
is ¥ 4,00,000. Find out EBIT.

e - 0 / SECTION - B

C3RFHTRETR TR zIReR w3or. B TR & wosnsh. 3x6=18
Answer any three questions. Each ques‘uon carries six marks.

2. CPR03 QOTBED ? ©TT AP TRLROINTT), FOFToN DTOR.
What is Dividend ? Explain various forms of dlwdend

3. TR 0dRRION T TOBNYR, HOFTIoN DTWOA.
Briefly explain the steps in financial plannmg

& P.T.0.
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4. 2.0, ONEE FoTIOID NTE ToRED 0HoZNRT, 00oZ P B oog R rwab
DOLOTL BOR3THTS. T sbogs B¢ T 6,00,000 FHIT. S TLeE0a3

Slolanb AR+ lelr ok loviial

S 1 2 3 4 5
o3 P (X) 1,80,000 2,40,000 3,00,000 1,80,000 1,20,000
ce3 R (%) 60,000 1,80,000 2,40,000 3,60,000 2,40,000

WOTBE BBVRONTZY, O LBOWD.
P N Co. Ltd. is con31der1ng the purchase of a new machine, Two alternative
machines P and R, have been suggested, each costing ¥ 6,00,000. Following
are the expected cash inflows :

Year 1 - T 3 4 5

Machine P ) 1,80,000 2,40,000 3,00,000 1,80,000  1,20,000
Machine R () 60,000 1,80,000 2,40,000 3,60,000  2,40,000

Calculate payback period.

5. 2,00 TOBACH Jwoowiwy T 40,00,000. ©TT WTUOTEEOD f)zgd T 25,00,000.
%dda& T 6,00,000 3¢. 10 Mo worme¥ < 30,00,000.
Ge maoaouaocd NSRRI, Jﬁm&
(a)  To09230R X,

.L ﬂamAiﬁ

ool (5.3 um".zdﬁ (NOO&QG%§ R3)
- ,;A,ﬁ,tm,h,as s,ales "5 T 40,00,000, variable cost of ¥ 25,00,000, fixed cost of
7 6,00,000, 10% debt of T 30,00,000.
Calculate : (a) Operating Leverage.
(b) Financial Leverage.
(c) Combined Leverage.

6. s 39N 303 THRIRT, T JRFT BeBDY 63X 9 G TIBATT, 4 ITENY
FRRRONY VBT FIT asa@éaab& FORHLECND.
% 1,000 S050300 IRFT 20339,
¥ 2,000 2UBS0D IRFT ©03TQ.
% 3,000 0300 IRFT ©OZTY.
¥ 4,000 moF0d FTET wosaej
Calculate the future value at ‘the end of 4 years of the following, series of
payments at 9% rate of Interest.
% 1,000 at the end of first year.
¥ 2,000 at the end of second year.

¥ 3,000 at the end of third year.
T 4,000 at the end of fourth year.
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RN - » / SECTION - C
el - - - ~
SRPYTRER HR® IR WO, B IIK TOTLY, ©oIND. 3x14=42
Answer any three questions. Each question carries fourteen marks.

7. T JITIF 2000 0IRD 7 ROPRIoDY ©[T TIFI, LTOA.

Who is Finance Manager ? What is the role of Finance Manager in an
Organisation ?

8. TROWT WOBTY NOTWBER 7 ©TO FeSd Ty Qedds LOINTZ, DTJOA.
What is Working Capital ? Explain the factors determining working capital.

9. 0.2 OaotdE® FoTJAOIW, 3, WOBIY TWS0I, TOWIOT, Bedd woB=Y T 10 T
20D 3B T 1,00 ,000 ﬁ%ﬁcﬁoéﬁ BOTAOI :-5'3 FAES d?é Oirakaxsﬁmﬁ ¥ 10,00,000
nesH ), WBS WYER QIO wdd T, DAY arﬁ*ﬁo odrexdned 8 ENT08I:

(i) QLRp BRI, SeTonshd

(i) 2QTp TOTE, J¢. 8§ WRTT

(iii) ¥5,00,000 W@ Jed T, ¥ 5,00,000 WOTF Je. 10 TI), WRTT.
(iv) ¥ 5,00,000 means Jecd BB, 5,00,000 10% T IR, Senvy.

BOTI0L, EBITR 6,00,000 303 0300 301 =T 3e. 50, vmc B 3008 ne3ng,
(EPS) Sgwos, WY 03 20T TuS BRBWNT 20T @é QeR.

RG Ltd. is capitalized with ¥ 10,00,000 dividend into 1,00,000 equity shares
of ¥ 10 each. The management desires to raise another ¥ 10,00,000 to
finance a major expansion programme. There are 4 possible financial plans;

(i) All equity shares.
(ii) All debentures carring 8% Interest. L)

(iii) ¥ 5,00,000 in equity shares and % 5,00,000 in debentures carring
10% Interest.

(iv) ¥ 5,00,000 in equity shares and ¥ 5,00,000 in 10% preference
shares.

You are required to calculate EPS and suggest which plan is better, the
company EBIT is ¥ 6,00,000 and tax rate is 50%.
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10. R.80°. DT TWE TR RBReEINTIT X X Y T, %@%&D QFFORT. “TT

DWT FENT033.

cdremd X Snems Y
==
(c.1) (C.I)
1 20,000 1,20,000
2 40,000 80,000
3 60,000 40,000
4 90,000 20,000
5 1,20,000 20,000
RN Sy T8 odwewdn T 1,40,000.
d@m& :
(a) BTBS ¥ (PBP)
(b) JTY T IR, (NPV)
(c) *“@@ Sos waz;m (ARR)
TRT BSoD w03 @ 10% 5 IRFNn,
ety 1 2 3 4 5
a_g!;dﬁ 23e3 @038 10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621

BR Ltd. considering two mutually exclusive project X and Y, the details are

given below:

s, Project X Project Y
(C.I) (C.I)
1 20,000 1,20,000
2 40,000 80,000
3 60,000 40,000
4 90,000 20,000
5 1,20,000 20,000

TRe original mve,stment each costing ¥ 1,40,000.

» . Compute ;

¥ (a) Payback Penod
(b) Net Present Value
(c) Accounting Rate of Return.
P.V Factor at 10% for S years as follows.
Year 1 2 3 4 5
P.V Factor @ 10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621
Y3AH 8 l J
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11. GB 9ddm® solRod awzs ARFIBOD “weod (EBIT) X 4,80,000 DB, ¥TT

WOBRIOY T3So & FYNT08T

z
ERF, Jed wommey [ 10 So3) 4,00,000
12% O &g3 Zed 6,00,000
14.5% O TOTIRL 10,00,000

83 FOF oD JIRTUTY DOVFNT, Tre0dd. & FYF0R FoTPFTY Tdoleomd 3e0s
STOONTY ST BeF@TD WHTOTHBRTRY, FORLROND :

(a) T, AVFBE Sweod e, 25 TR a’zagcsari

(b) T, IVFEH SHooD Be. 25 TW), FBRCIPTRR FoTRCD 3ot BT Be. 35.

GB Ltd. company has EBIT of ¥ 4,80,000 and its capital structure consists of
the following securities :

¢
Equity share capital (X 10 each) 4,00,000
12% preference share capital 6,00,000
14.5% debentures 10,00,000

The company is facing fluctuation in its sales. What would be the percentage
changes in EPS ?

(a) If EBIT of the Company Increased by 25%.

(b) If EBIT of the Company Decreased by 25%. The Company Tax rate

is 35%.
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